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Percentile 
 

Capture Response : Rate (%) 
 
(Percentile) 
5 % 

520,20
480
176

213
2.119 =×  

10 % 
498,19

480
145

229
2134,238

480
176

213
2,119213 =×−+×−  

90 % 
731,1

480
127

1822
2,119 =×  

 
 
Lift Value : Model Response Rate (%)/Baseline Response Rate (%) 
 
 
Response Rate :  
 
(Percentile) 
5 % 

629,82
213
176 =  

10 % 
514,78

229
145

2,119
2134,238

213
176

2,119
2,119213 =×−+×−  

90 % 
970,6

1822
127 =  

 
 
Cumulative Lift Value : Model Cumulative Response Rate/Baseline Cumulative Response Rate 
 
 
Cumulative Response Rate : 
 
(Percentile) 
5 % 

%629,82
213
176 =  

10 % 
%572,80

229
145

4,238
2134,238

213
176

4,238
213 =×−+×  

90 % ( ) %597,21
1822
127

6,2145
1202292136,2145

120
32

6,2145
120

229
145

6,2145
229

213
176

6,2145
213 =×++−+×+×+×
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Tprofit : average profit per observation * nbr observations 
 
(Percentile) 
5 % 4938,982,11982629,0 =×  

10 % 589,932,11978514,0 =×  

90 % 30867,82,11906970,0 =×  

 
 
Tprofitc : ∑Tprofit  
 
(Percentile) 
5 % =   98,4938 

10 % 08297,192589,934938,98 =+=  

90 % 3826,46330867,8589,9334938,98 =+++= K  

 
 


